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Note: (a) All questions are compulsory. S
(b) The candidate is allowed to make suitable numeric assumptions rvhé?éﬁg}":'eéﬁired
for solving problems. ' w4

(c) Use of scientific calculator is allowed.

Q. No. Question - CO | Marks
01 A company is to replace its fleet of cars. Eight possible models are consndered 1 5
and the transport manager is asked to rank them, from-I" o 8, in order of
preference. A saleswoman is asked to use each t}fpe of car” ‘for a week and
grade them accordmg to their suitability for- the\JOb (A -very suitable to E-
unsuitable). The price is also recorded in the followihg table:
Model | Transport manager’s Saleswoman s | Price(£10’s)
ranking Y "'ﬁgl ade
S 5 S0 B 611
T 1 | Bt 811 |
U 7% . D- 591
Y T C 792
W e B- 520
X . 6 D 573
4 ¥ 4 C+ 683
w7 3 A- 716
paléulate Spearman’s rank correlation coefficient between:
% a) Price and the transport manager’s rankings.
b) Price and the saleswoman’s grades,
22 Suppose that a faboratory test to detect a certain disease has the I 72 3
following statistics. Let
A = event that the tested person has the disease, and
B = ¢vent that the test result is positive.
It is known that P(B]4) = 0.99 and P (B|A) = 0.005, and 0.1
. _ Lpecceni _of the population ectually has the discase. What s the | 1

fapel ol 2




probability that a person has the disease given that the test 1esult is
positive?
Q3 | It is conjectured that an impurity exists in 28% of all water dispensers | 2 4
in 2 hostel of a medical college. To gain soms insight into the true
extent of the problem it is determined that some testing is necessary. It
is too expensive to test all the dispensers in the hostel, so 12 are
randomly selected for testing.
a) What is the probability that exactly 3 dispensers have the
impurity?
b) What is the probability that more than 3 dispensers have
impurity? UL 1Y
Q4 The amcunt of time that a waich wiil run mthom ua;mp ybeaesel fsa g
random variable having an exponential distribution with a mean time of
120 days. Find the probabilities that such a watch will have to be reset
in less than 24 days. L
Q3 - | Suppose that during perlods of meditation, the reduction of a. pemon s| 2 4
oxygen consumption is a random variable having anormal “distribution
with g = 37.6cc per minute and ¢ = 4.6 ¢¢ per mmute Find the
‘probabilities that during a period of medltatlon,s a\person oxygen
| consumption will be reduced by anywhere from 300 to 40.0 cc per
| _ {minute. _
oo a) Make a table to explain iype | and tvpc 1 eroie. 3 1 2+2+1
~ | L) Txplain the difference betwaen om, dailed and twe-fatled iests
! ihrough diagrams. 7 :
L .1 _¢ \hatisthe p-value? - -~ -~ 4
Cumulative Standardized Normal Distribution:
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